33 nuunwhuwgnuejwi 2015p. glnuiGkph wwlip

thrvhnjudwd

Quwthp Snudwnp
Lnnp UGywhnedp QhOdwh dlp dhunpp Uhwijnph ghlip Fwlwlp (husq. npusdny)
A3 nuenwhuiwqnepjwl wwhupwbng
Pudh( 03 hunudp 04 “wu 01 Spwahp 01
Swownupyniiibp
65211100/1 | qwgh pw;funid PrCUS npwd 55,087,700 1 25087.7
65311100/1 | bbynpwlwinipywi puzfunud RrCU3 nnwd 38,048,800 1 38048.8
65111100/1 | fudbine eph pwzfunud PoUl npwd 4,912,000 1 4812.0
wiunwhwidw L dwlwpnysGbph rCUS nnwid
nsOswgdwh dwewjnipynGGhp
90671100/1 BRRABUGG Uit AL G iiiBrind 432,000 1 o
32411130/1 | hwiwgwig C3 rnuwid 5,915,200 1 5915.2
64121200/1 | thnuwnh wewpdwh dwrw)nipnuGhbnp FCUSR npwiy 3,000,000 1 3000.0
Obpph0 thnuwnwhl L rCUJ nnwd
S412140011 untphwinwbwhGéwnwinipniGibn 5,500,900 ! 5500.0
inbnwyh0 henwhunuwhG PCUS o
64211110/1 PR 30,553,200 1 30553 2
dhopwnwpwihi hbnwhunuwjh PCUS npwd
642111201 Siinuinisink 6N 29,191,100 1 29191 1
wndju Gbph thwpbpgh0 Gwldwh rOUS nnud
T2RU1201 [0 i GGh 1,100,000 1 1100.0
99600000/1 |glnud shwinhuwgnr w)] dwhuubp o le} nnwd 1,262,500 1 1262.5
thnfuwnpuwihenglbiph hbw Ywwws rCUSR nnwd
Al wwwhnywanwlwh swnwjnipinilGbp 3,340,000 : 3640
99600000/2 |qOnud shwinhuwgnn w)) dwhuubp 0ag nnwd 9,829 900 1 9829.9
gnwnp pwngdwinugwh c3 N
795311001 | ninimtn.G0hp 2,700,000 1 2700
pwiwdnp pwpgiwbnipjwi op! npwd
795411001 Sibinisinittn 300,000 1 300
nwnwépwihl guigh hbown fuwws GA npwd
72721100 SriinipnthGE 63,674,200 1 63674.2
222112001 | wywaunnGwlw wiuwgnpkp rCUR g 186,000 1 186.0
222113001 | wwppbpwlwh dwidny C3 oL 3,769,000 1 3769.0
2221150011 | wiluwgpbp 3 hwun 1,150 3000 3450.0
224511801 | wwunybpny tnwwgpynn Gynupbip C3 nwid 995,000 1 995.0
hbnrniunwhwnapnnudGbph G3 nnwd
Seainitls hEnwnéwliiwi dwnwjnipniGibp i 1 23000.0
pbnpbnNLY hwjnwpwpnieynuGGbph C3 Qi
924211001 NWWANBWE Gwnwinieintl 400,000 1 400.0
pjneebilbph Guwinwpiwb dwuht 33 926 nnwd
onthunprupjwip uwhdwlywsé nbwpbpnud
99500000/1 uinswlwG whnh hhdwe pw 400,000 1
dwinnigywd dwnwinipjnlGGbp 400.0
Obplpwjwgnigswliwl swnwynipynuGlbph rOUR nnud
98391190/1  |hbwn Ywwywé dwiuubnp 8,000,000 1
8000.0
ubifulhbwlwi uwnnugdwd rCU3 nnwd
71631100/ Al EiERL b 700,000 1 700.0
79991160/1 | wptuhdwgdwh swnwjnipyniGGbp c3 i 1,500,000 1 1500.0
wnwbhpbbph bpwinpngdwi me nwd
452611241 wohuwnwlipGbp 2,982,187 1 2982 187
2blptiph L 2hGnugyniGObph Ywrniglw me nnwd
713111101 |odwlnuwl dwnwjnip)niGibn 20,000,000 1
20000.0
wlwnnibpblwGbph Yepwinpngdwh c3 i
5011113011 StinwiALpinLGGhT 29,759,000 1 20759.0
wyunnibpbbwibnh dbpwinpngiwh PCUS o
5011113002 gwnwnupynublbn S ! 20000




gnwubljwlwiht hwzdnqulwh uvwppbph (o npwii
503111001 JwwhuwwGdwh L Ybpwnpngdw 600,000 1

dwnwjnipintGlbp 600.0
2245120011 |JywjwlwGhbp C3 huwn g00 50 45.0
2245124011 |ppwiyGbp 3 huiwn 30 35000 1050.0
22451240/2 |ppwllGbp C3 hwn 60 17000 1020.0
228111101 | hwawniwb gppbp &3 hwn 1,800 900 1620.0
30121460/1 | vinbbpwjhG pwpinphelbp (of hwtn 18,000 180 34200
30121460/2 | winGbpuwyh0 pwpunphebbp 3 hwin 19,000 80 1520.0
30121460/3 | winbObpwjh0 pwpwnpheGbn G3 huwn 20,000 140 2800.0
30121460/4 | winGhpwhG pwpwnpholbp (o5 hwin 21,000 45 945.0
30121460/5 | winbObpwyhl pwpunphelbp 3 huwnn 20,000 4 80.0
30121460/6 | ninlGbpw)hli pwpwnphelbnp c3 huwwn 22,000 30 660.0
30121460/7 | ninbbpw)hl pwmnphelbp &3 hun 16,000 20 320.0
30121460/8 | winlbpwhl pwpwpheGbp c3 hiwn 19,000 2 38.0
30192100/1 |nbuinhl hwuwpwl (o hwun 50 50 25
30192114/1 |pwlwp, YGhph pwpdhlyh hwiwp c3 hwtn 190 30 5.7
30192121/1 |aphs glnhlundnp G3 huwn 60 2000 120.0
30192128/1 |gphs ghjwjhi [ huwn 150 500 75.0
30192137/1 |dwwnhw, gpwdhint dhencyny, hwuwpwl (o hwn 60 1000 60.0
30182160/1 | pnnphfulbp C3 hwn 200 145 28.0
30192710/1 |unubdwdwinhwn, gpwubGuwlw)ha 3 hwin 200 300 60.0
30192720/1 |qowhzhs c3 hwin 250 100 25.0
301927601  |uphg, undnpwljwn (o hwn 150 20 3.0
301971111 |Uwphsh dbinwnwiwpb Ywwtp, thapp c3 tnth 100 400 40.0
30197112/1  |hwphgh Shunwnwwpb Ywubp, dhohh C3 tnnith 200 400 B0.0
30197231/1 |pnpwwjwlwl, wnihdbpuwihb pwnwip, G3 hwn 10 5060 50.6
30197232/1 |pnpwwwlwl, wnwqwlwp, pnpjuw G3 huwn 70 3500 2450
30197234/1 |pnpwwwlwl, Ynzwn Yuging o hwuwn 700 200 140.0
30197321/1 |Ywnhg, GhGsk 20 pbpph hwdwnp 3 hwn 700 50 35.0
30197322/1 |Ywphs, 20-50 pbpph hwdwp 3 hwin 800 50 45.0
30197331/1 |nulhg, pwlnbny G3 hwn 2,500 50 1250
J0197631/1  |pnunp, Ad Dnpdwuwnpl /21x29.7/ A mnnth 2,000 4150 8300.0
30197633/1 |pnunp Jwpuh, dwujw]bi 3 hiuwn 800 300 240.0
30198231/1 |Gwdwblh épwp, A5 dlwswihh G3 hwin 40 10000 400.0
30199232/1 |6pwp, 0k, A4 dluwuswihp huwdwp G3 hwn G0 10000 600.0
30199430/1 |pninp Gznuilbiph, nipgullbpny 5 nntih 250 500 125.0
30234630/1 |[$Lb2 hpznnnipynil, BGE cAa hiwn 3,600 20 72.0
30237411/1 |0y0pYy, hwiwlwpgswih, (wpnd G3 huwin 3,000 30 90.0
30237470/1  |unbnlwwp, unwhnwpwn, 104 YnGwlny G3 huwn 3,400 20 68.0
358111701 |hwiwggbuwmn G3 hwwpwdn 680,400 4] 3402.0
35811170/2 |hwiwqgbun C3 hwywpwén 301,000 35 10535.0
382411401 |nwlwl gpwubljwluwhG dhunwnw c3 hiun 100 100 10.0
392412101 |dUpwn, gpuwubGjwljwihb c3 hwwn 250 50 12.5
39263410/1 |wdpwl, dbwnwnyw, thnpp G3 uninith 180 150 27.0
39263510/1 |ubndwl, thnpp C3 huwn 25 100 2.5
39263520/1 |ubniwl, dhohh &3 hiwn 40 200 8.0
39263530/1 |ubndwl, dbd 3 hiuwn &0 200 12.0
39292510/1 |[pwlnh, wjwuwhl 3 hwn 100 300 30.0
44322100/1 |dwinifu hwdwlwpgsh, UTP cable 6 level G3a dbwnp &0 8915 54.9
09132200/1 |pbOghG, rbgniywnp 3 Lhuip 460 150000 69000.0
09211110/1 _ [2wndhgh jnun, YhuwuhGpbnhy ¢3 Lthup 3,000 180 540.0

hwlwuwnh; hbnnll” A quuh C3 Lhwnp

Ynbghlitnpwlm, A-40 nuuh’ 40 C
2495131011 |JwuwnhSwh vwedwh pbpdwunh@wing,A- 1,200 1]

65 nwuh’ 65 C uwndwh gbpiwunhGwing

108.0




31442100/1 |Ynunwlhs dwpwnlngGbp GA hwwn 32,000 16 512.0
3435120011 | wwnidbpblwlbnh wGhyGbp Gl hwun 45,000 16 720.0
34351200/2 | wywnndbpbGwitnh wihyGhp cA hiuwn 45,000 28 1260.0
34351200/3 | wywnnibpbOwhbph wihdGhp C3 hwn 50,000 12 600.0
34351200/4 | wdwndbpblwbbph wihyGbp G3 hwin 60,000 16 960.0
34351200/5 | wiunnidbpblwGbph wohdGtn Gl hwin 40,000 56 2240.0
34351200/6 | wiwnnibpbGwhbph wihyGhp ca huwtn 125,000 4 500.0
18421130/1 | dGrOnglbp G huwin 500 100 50.0
19641000/1  [wnihtphiG0ughl wwpl, wnph hwiwnp c3 hwn 10 3000 30.0
31531210/1 |bibywpwlwi |wiw, 60W, 80W, 100W c3 hwin 100 2600 260.0
31531500/1 |gtipblwjhl [wiw 60ud c3 hwin 400 100 40.0
31681610/1 |bibnpwlwl wwwhndhs, Shwwq, 32U 3 huwn 950 10 9.5
31681620/1  |bEywpwlwh wwwhndps, Shwhwg, 40U g hwin 1,050 10 10.5
31684100/1 |dwpnwl bplplbnwih o3 hwn 500 20 150
31685000/1 |biEGwpwhwh Bplwpwgdwd (wn c3 huwin 1,600 30 48.0
33761000/ |{qnigwpwlh pninp, nocnGng t3 hitn 100 1542 1542
39224331/1 |nny| wiwundwub G3 huwin 600 30 18.0
39513200/1 |pnpb whdbnnghly, bpyztpn 3 hwin 105 400 42.0
39522250/1 | thnznt hwwpdwh Wwnnpibp t3 hiwn 200 50 10.0
39522330/1 | dwppnn Yunplbp c3 hiun 450 100 450 .
39831241/1 |ofiwn, dbnph [ huwn 230 50 115
39831242/1 |1dwgph thnzh dbinpny (Jwlwint hwiwp G3 Uhingpwd 887 50 44 35
39831244/1 |otwn, nlnbuwlwi o | hwin 150 50 I.5
39831245/1 |oGwn, hEnniy c3 Lhup 320 150 48.0
39835000/1 |hwunwly dwpnbint dnn, wpwuowdwuk, G3 huwin 1,000 15 15.0
398360001 |wudby, undnpwlwi A hwin 750 150 112.5
39837000/1 |gwhuwby (eF] hwin 1,700 30 51.0
398391001  |gnquwphwl, wnpp hwiwpbnt hwidwp, C3 P 130 30 3.9
44411120/1 |oph énpuwly, 2 thwluwing £3 hwin 3,000 10 30.0
44521120/1 | nowi thwlwiGep .3 huwin 3,500 15 52.5
Tunwiuwgnipjwl wwhnwinwhG $nln
PwdhG 03 tunuip 04 Ywu 01 Spwghp 02
99600000/1 |qlnud shwlnhuwgnn w)) dwhuubp 425 npwi 69,993,800.0] 1 69993.8
Uznnwlwh wnbup nuGbgn rOUR huwwn
31521470/1 gjlgwﬂwmwﬁﬁhn S 164,000.00 -
Abnwhunuwihl vwppbp 3 hwn
32551160/ 69,900.00
2 139.8
32551160/2 |[Abnwhunuwihl uwppkp 3 hun 65,000.00 8 520
64211280/1 |IP hbnwlunulbp G3 huwin 125,600.00 1 125.6
Uptnwuwhiwjwh wwpnnGuljwi gnpénunnudibp
Puwdhl 01 hunudp 01 Ywu 03 Spwghp 04
bpyweniwihl tnpwbuwynpun PCUS wi
60211100/1 FEEUUEJEUTEI&':IH ﬁgnwﬁp':‘mﬁ‘[{mmj n 47460000 i
whnbwydnp onwjhG thnfuwnndwi 3 L
60411200/1 :mnmjmijr:llﬂ?tuﬁhmﬁnrgu}“n X i 3,875,000.00 1 38750
YwOnbwynp onwjhG thnfuwnpw FCUA npuwd
604112002 |éwnwynip)nLl (wuhwinniu) 3,766,406.00
1 3766.406
9960000011 |qlnLd shwinhuwgnn w)| dwhuubn Q25 npwd 7.460,221.00 1 7460.221




